
10) 8

11) 8

12) A

13) 8

14) C

15) D

Test 30

1) D 5.Pn' x .62 mi.

1 lJmf
3.1 mi.

2) 8
6..kg"' x 2.2 Ibs.

1 1..kg
13.2Ibs.

3) A
3yQs. x~

1 1~
2.7m

4) 8 6ftri:" x 1.6 km = 9.6 km
1 1m.

5) D
8 j.b5: x .45 kg = 3.6 kg

1 1¥

6) E 6.% x 1.1 yds. = 6.6 yds.
1 lfl1'"

7) A 9..001" x ~ = 3.6 in.
1 1.001"

8) C 9)w." x 2.5 cm = 22.5 cm
--1- 1ft

9) E 3Y x 1.06 qts. = 3.18 qts.
--1- lY

1.gat: x 4.q-tS: x ~ = 3.8 liters
1 1.gffi. 1~

2;X: x ~ = 56 g
1 1..G£.

1) 8

2) A

3) C

4) E

5) 8

6) A

7) D

8) 8

9) D

10) C

11) A

12) 8

13) C

14) C

15) A

Test 31

m=3

X313=X1 =X

~ =5, 52=25

2x2=4

y5130 + 12130= Y 17130

X(2+4)(112) = X3

10213 + 103 = 10 1113

A = 4, 8 = 2

A = X1913, 8 = X19

A = 3, 8 = 3

A=105, B=105

A=B8,8=B4

Test 32

1) A 1) C

2) C
3) C

4) E

5) D

2) 8

3) D

4) B

6) C
5) E

Test 33

7) A 43 = 64

53 = 125

6) C

7) C

2
8) C 16134

32

2

8) A
9) E

9) C

10) E

11) C

(2.5 x 10.1)(1.3 x 105) =
(2.5 x 1.3)(10.1 x 105) =
3.25 x 104

10) B

11) E12) D

(5 x 107)(6.1 x 10-1) =
(5 x 6.1 )(107 x 10-1) =
30.5 x 106 = 3.05 x 107 12) B

13) C two significant digits

13) A
14) D two significant digits

(1.24 x 4.7)(106 x 103) =
5.828 x 109 = 5.8 x 109

14) E

15) B three significant digits

(6.25 .;. 3.241)(108 .;. 104) =
1.93 x 104

15) B

1 0
32[45 16[13

32 0- -
13 13

o
211

o
1

2

1441356
288

68

1 X 62 + 2 X 61 + 2 x 60
1(36) + 2(6) + 2(1)
36 + 12 + 2 = 50

o
4~

o
2

2
1~

2
o

1
8[13

8
5

1

111
1
o

1
415

4
1

5
12[68

60

8

8
118
8
o

4 X 122 + 11 X 121 + 3 x 120
4(144) + 11(12) + 3(1)
576 + 132 + 3 = 711

5 X 122 + 2 x 121 + lOx 120
5(144) + 2(12) + 10(1)
720 + 24 + 10 = 754

1 X 32 + 2 X 31 + 2 x 30
1(9) + 2(3) + 2(1)
9+6+2=17

1 X 73 = 1(343) = 343

-l
CD
~
enQ.
S.
o·
::Jen
coo
cow


